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RELAÇÃO DO AÇO

P1-L2 P1-L1 P2-L2

P2-L1 P3-L2 P3-L1

P4-L2 P4-L1 P5-L2

P5-L1 P6-L2 P6-L1

P7-L2 P7-L1 P8-L2

P8-L1 P9-L2 P9-L1

P10-L2 P10-L1

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 116 29 3364

2 5.0 116 107 12412

3 5.0 168 87 14616

CA50 4 10.0 24 299 7176

5 10.0 48 VAR VAR

6 10.0 24 287 6888

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 10.0 180 122.1

CA60 5.0 303.9 51.5

PESO TOTAL

(kg)

CA50 122.1

CA60 51.5

Volume de concreto (C-30) = 2.25 m³

Área de forma = 35.68 m²


